

Empowering the Future through Crowdsourcing and Blockchain Innovation

# Welcome

To

## Viora Trade Ltd.



**Viora Trade LTD.**  
[www.vioratrade.com](http://www.vioratrade.com)

# Vision of Viora Trade Ltd

- **Empowering the Future through Crowdsourcing and Blockchain Innovation**
- Viora Trade Ltd. is a financial management company registered in the United Kingdom (UK) on 12th May 2025. The registration number is 16444674. Viora Trade Ltd is committed to revolutionizing digital finance and business ecosystems through an open crowdsourcing model. By leveraging blockchain technology, our goal is to implement at least 30 innovative projects by 2030, ensuring global economic opportunities for our members. Our vision is to create a decentralized and inclusive financial network that empowers individuals and businesses worldwide. Through strategic initiatives like EBN(EBON) Coin, Viora International Visa Card and Viora e-Commerce Platform, we aim to provide secure, transparent, and rewarding financial solutions.



# What is Crowdsourcing?

- Crowdsourcing is a process where an organization or an individual gathers ideas, tasks, or funds from the public, usually online platform. It helps solve problems by leveraging the collective efforts of many individuals or groups.
- The core idea behind crowdsourcing is that what may not be possible for one person alone can be accomplished through the small contributions of many. This method has gained popularity in business, technology, research, design, and fundraising.
- One of the biggest advantages of crowdsourcing is that it enables tasks to be completed quickly and efficiently. People with different skills and expertise can contribute their knowledge and experience to solve a specific problem or project. Many startups, NGOs, and large corporations use crowdsourcing to make their work more efficient and productive.
- For example, Wikipedia is a great example of crowdsourcing, where contributors worldwide add and update information. Similarly, crowdfunding platforms like GoFundMe or Kickstarter allow entrepreneurs to raise funds from the public for their projects.

Overall, crowdsourcing is not just a problem-solving strategy but a powerful tool that brings together the collective power of people to create innovative and effective solutions.



# Registered information of Viora Trade Ltd.



## CERTIFICATE OF INCORPORATION OF A PRIVATE LIMITED COMPANY

Company Number **16444674**

The Registrar of Companies for England and Wales, hereby certifies that

**VIORA TRADE LTD**

is this day incorporated under the Companies Act 2006 as a private company, that the company is limited by shares, and the situation of its registered office is in England and Wales

Given at Companies House, Cardiff, on **12th May 2025**



\*N16444674N\*



**Companies House**



THE OFFICIAL SEAL OF THE  
REGISTRAR OF COMPANIES

The above information was communicated by electronic means and authenticated  
by the Registrar of Companies under section 1115 of the Companies Act 2006



**Viora Trade LTD.**

[www.vioratrade.com](http://www.vioratrade.com)

# Registered information of Viora Trade Ltd.



Companies House

**IN01 (ef)**

**Application to register a company**



Received for filing in Electronic Format on the: **09/05/2025**

**XE26LSBE**

*Company Name in full:*

**VIORA TRADE LTD**

*Company Type:*

**Private company limited by shares**

*Situation of Registered Office:*

**England and Wales**

*Proposed Registered Office Address:*

**SUITE A 82 JAMES CARTER ROAD, MILDENHALL  
BURY ST. EDMUNDS  
UNITED KINGDOM IP28 7DE**

*Sic Codes:*

**62090**

**66110**

**47910**

**70221**

*I wish to entirely adopt the following model articles:*

**Private (Ltd by Shares)**



**Viora Trade LTD.**

[www.vioratrade.com](http://www.vioratrade.com)

# Registered information of Viora Trade Ltd.

## *Proposed Officers*

*Company Director* 1

*Type:* **Person**  
*Full Forename(s):* **MR CHRISTOPHER CHARLES**  
*Surname:* **MORTON**  
*Former Names:*  
*Service Address:* **recorded as Company's registered office**  
*Country/State Usually Resident:* **UNITED KINGDOM**  
  
*Date of Birth:* **\*\*/04/1992** *Nationality:* **BRITISH**  
*Occupation:* **BUSINESS PERSON**

*The subscribers confirm that the person named has consented to act as a director.*



**Viora Trade LTD.**  
[www.vioratrade.com](http://www.vioratrade.com)

# EBN Coin – Whitepaper (Summary Version)

Version 1.0 | Published: August 2025

## 01. Introduction

EBN Coin is a decentralized digital asset built on the BNB Smart Chain (BEP-20). It is designed to become a powerful medium of exchange for digital trading and e-commerce platforms globally. EBN Coin was officially launch in August 2025 under the initiative of Viora Trade Ltd., a blockchain-driven marketing and tech company.

## 02. Project Vision

EBN Coin aims to empower individuals through accessible digital finance. The goal is to reach a market value of \$100 by December 2030, supported by utility, scarcity, and user-driven growth.

## 03. Key Features

- ◆ Blockchain: BNB Smart Chain (BEP-20)
- ◆ Launch Date: August 2025
- ◆ Dex-Exchanger Listing: July 2026
- ◆ Decentralized -Exchanger Listing: August 2026
- ◆ CoinMarketCap Listing: December 2026
- ◆ Total Supply: 15 Billion EBN Coins
- ◆ Coin Burn: 40% of the total supply will be gradually burned to create scarcity
- ◆ Distribution Period: 60 months (5 years)
- ◆ Target Price: \$100 by December 2030
- ◆ Free Distribution: Allocated to members of Viora Trade Ltd.

## 04. Utility

- Trading: EBN will be listed on major crypto exchanges
- E-commerce: Accepted as a payment method for global digital goods and services
- Staking & Rewards: Planned features to incentivize long-term holding

## 05. Ecosystem Support

- Viora Trade Ltd. will manage early distribution, community growth, and adoption campaigns.
- A portion of tokens will support platform development, exchange integration, and global partnerships.

## 06. Conclusion

EBN Coin represents the next wave of digital currency evolution, offering fair distribution and real-world use cases. With a strategic roadmap and community-focused growth, EBN is poised for steady expansion and adoption.



**Viora Trade LTD.**

[www.vioratrade.com](http://www.vioratrade.com)

# Get Coins for Free Registration of Viora Trade Ltd!

**Get free coins by registering, & Get more coins by sponsoring**

- Get 100 free coins just by registering on Viora Trade Ltd!
- Additionally, by logging into your ID and clicking the "On" button daily, you will receive 1 coin per day for up to 500 days.
- Earn coin bonuses up to 7 levels through unlimited referrals:
- 1st Level: 15 coins
- 2nd Level: 12 coins
- 3rd Level: 10 coins
- 4th Level: 06 coins
- 5th Level: 04 coins
- 6th Level: 02 coins
- 7th Level: 01 coin
- **Total 50 Coins**
- Through this system, the first 500 thousand free registered members will receive EBN coins. After completing 500 days, members can request a withdrawal by verifying their account. Only one national ID/passport/driving license can be used for verification. IDs created using free email services will not be approved during verification. Each person can verify only one ID using their email and identification document. Note: Only the first 500 thousand free registered members will get the opportunity to earn these free coins.



**Viora Trade LTD.**  
[www.vioratrade.com](http://www.vioratrade.com)

# EBN Coin Distribution System

EBN Coin is a fully decentralized cryptocurrency. Its distribution is managed through an exclusive agreement with Viora Trade Ltd., a registered company in the United Kingdom.

The distribution is conducted in two primary ways, and in both cases, EBN Coins are given completely free of charge to members:

## 1. Free Registration-Based Distribution:

## 2. Active Membership-Based Distribution:

- Registered users can activate their membership by paying a small membership and service fee.
- Active members receive 3 coins daily for 1,095 days (3 years), totaling 3,285 EBN Coins—entirely free.

### Distribution Phases:

The coin will be distributed to a total of 1 million members in three phases:

- Phase 1: 100,000 members activate with \$10 fee → 3 coins/day for 1,095 days
- Phase 2: 300,000 members activate with \$15 fee → 3 coins/day for 1,095 days
- Phase 3: 600,000 members activate with \$20 fee → 3 coins/day for 1,095 days
- The opportunity to add new memberships will remain ongoing.

Viora Trade Ltd will implement 30 more projects in the future through the crowdsourcing model. There will also be opportunities to become a member in those projects in the same way. Therefore, one million members is not the end! Stay connected with Viora Trade Ltd and work towards your own financial growth.

This structured approach ensures wide participation, sustainable distribution, and long-term engagement, helping to build a vibrant EBN ecosystem.



**Viora Trade LTD.**  
[www.vioratrade.com](http://www.vioratrade.com)

# To become a member of Viora Trade Ltd, you must meet the following conditions:

## Minimum Age Requirement:

You must be at least 16 years old. To verify your age, you will need to provide any one of the following documents: Citizen Card, Passport, or Driving License.

## Registration Process:

You can register for free using a referral link from an existing member or by clicking the "Get Started" option on the homepage of the official website.

It is recommended to register through a referral, allowing you to receive guidance from a team leader and become part of a support team.

## Membership Activation:

- After registration, to activate your membership, you must pay a \$10 membership fee and a \$2 service charge, totaling \$12 (From the 100001st member, the membership fee is \$15 and the service charge is \$5, for a total of \$20).
- This payment must be made via the TRC20 network to Viora Trade Ltd's designated account.
- Activation is voluntary, and you will only receive commissions once your membership is active and you refer new members.

By fulfilling these steps, you will become an active member of Viora Trade Ltd and be eligible to participate in its various projects and income opportunities.



**Viora Trade LTD.**

[www.vioratrade.com](http://www.vioratrade.com)

# How to Top-Up Dollar in Your ID?

- Login to your ID.
- Click on the Menu, then go to the Purchase option.
- Click on E-Currency, then click **Add New**
- Copy the Wallet Address provided there.

Now, follow these steps in your Binance account:

- Open your Binance account and go to the Funding section.
- Click on Withdraw, then select USDT.
- Choose Send via Crypto Network.
- Paste the copied wallet address in the Address field.
- Select the TRC20 network.
- Enter \$13 in the withdrawal amount box — this includes the \$12 membership fee and \$1 Binance transfer charge.
- Complete the remaining steps to finish the withdrawal process.

Then:

- Go to Withdraw History in Binance.
- Copy the TXID from the transaction.

Finally:

- Return to your Viora Trade ID.
- Paste the copied TXID into the appropriate field and click Submit.

You will now see the equivalent amount of dollars deposited in your Top-Up Wallet.



**Viora Trade LTD.**  
[www.vioratrade.com](http://www.vioratrade.com)

# How to activate your ID?

- Click on the "Purchase" option from your ID.
- Then click on the "Membership" option.
- Click the **"Add New"** button.
- In the "Top-Up Wallet Amount" field, enter 12.
- Select "I accept the Terms & Conditions".
- Click the "Submit" button, enter your 4-digit Security PIN code, and click Submit again.
- Your membership has been successfully activated, and a pop-up message will appear.

We hope this process will also help you activate the IDs of your team members easily!

## What benefits can one receive by becoming a member?

- By becoming an active member of Viora Trade Ltd, you will receive several unique benefits designed to support financial growth, entrepreneurship, and long-term engagement. These include:
  - Free Cash Bonus
  - Free Daily Coin Rewards:
    - Active members receive 3 EBN coins daily for 1095 days, totaling 3285 coins completely free.
  - Commission Earnings:
  - Referral Commission: Up to 45% of the membership fee is distributed across 7 levels.
  - Team Performance Royalty: Based on rank, you can earn up to 60% from the allocated 20% royalty pool.
  - 20% Global Royalty
  - BDC & VSA Commission: 15% of the membership fee is shared among BDCs and VSAs.
  - Project Sharing Opportunities:



**Viora Trade LTD.**

[www.vioratrade.com](http://www.vioratrade.com)

If you become an active member and do the same, you will have the opportunity to earn in 5 additional ways. The income types are shown sequentially. To become an active member, you need to pay a \$10 membership fee and a \$2 service charge, for a Total \$12.

## Free Registration Bonus

Level	Membership Fee	Referral %	Commission
Level-01	0.00	0.00	\$0.20
Level-02	0.00	0.00	\$0.09
Level-03	0.00	0.00	\$0.06
Level-04	0.00	0.00	\$0.04
Level-05	0.00	0.00	\$0.03
Level-06	0.00	0.00	\$0.02
Level-07	0.00	0.00	\$0.01

## Referral Commission From an Active Member

Level	Membership Fee	Referral %	Commission
Level-01	10.00	20.00%	\$02.00
Level-02	10.00	09.00%	\$00.90
Level-03	10.00	06.00%	\$00.60
Level-04	10.00	04.00%	\$00.40
Level-05	10.00	03.00%	\$00.30
Level-06	10.00	02.00%	\$00.20
Level-07	10.00	01.00%	\$00.10



**Viora Trade LTD.**

[www.vioratrade.com](http://www.vioratrade.com)

## Rank Achievement Condition, Royalty Percentage & Reward

1st Highest	2nd Highest	All Others Link	Total Member	Rank	TP Royalty %
05 Member	03 Member	02 Member	10 Member	One Star	30% on Fund
25 Member	15 Member	10 Member	50 Member	Two Star	35% on Fund
100 Member	60 Member	40 Member	200 Member	Three Star	40% on Fund
250 Member	150 Member	100 Member	500 Member	Four Star	45% on Fund
500 Member	300 Member	200 Member	1000 Member	Five Star	50% on Fund
1000 Member	600 Member	400 Member	2000 Member	Six Star	55% on Fund
2500 Member	1500 Member	1000 Member	5000 Member	Seven Star	60% on Fund
10000 Member	6000 Member	4000 Member	20000 Member	Emerald Director	10K Tour Fund
20000 Member	12000 Member	8000 Member	40000 Member	Ruby Director	20K Car Fund
50000 Member	30000 Member	20000 Member	100000 Member	Black Diamond	50K Flat Fund
100000 Member	60000 Member	40000 Member	200000 Member	Crown Ambassador	150K Villa Fund

Royalty commissions are generated weekly every Wednesday at 12:30 AM (website local time). Members will receive royalty based on the rank they hold at the exact time of generation. Royalty distribution flows upward through the team structure –after payment to lower-ranked members, the remaining balance is transferred to the next eligible higher rank and added to their royalty fund according to their Rank.

Emerald Director, Ruby Director, Black Diamond, and Crown Ambassador Rewards are credited instantly to the income wallet upon achievement. These rewards are one-time bonuses and are not recurring.



## 20% Global Royalty

If you achieve the Elite Club Member(ECM) rank, you will enter the Global Sales Royalty Club. 20% of global sales is deposited into this pool. On the 1st day of every month, the royalty commission is equally distributed among all members who have achieved the ECM rank and above. Only those with the ECM rank or higher will be eligible to receive this commission.

### How to Achieve ECM Rank

Generations	1 <sup>st</sup> Highest	2 <sup>nd</sup> Highest	3 <sup>rd</sup> Highest	4 <sup>th</sup> Highest	All Others Link	Total Members
1 <sup>st</sup>	<b>Sponsor directly from your own referral link.</b>					09 Member
2 <sup>nd</sup>	09 Member	07 Member	05 Member	03 Member	03 Member	27 Member
3 <sup>rd</sup>	27 Member	21 Member	15 Member	09 Member	09 Member	81 Member



# What is the BDC & VSA?

- To establish Viora Trade Ltd's operations in an organized manner across the globe, an administrative structure has been created. This structure consists of BDC (Business Development Coordinator) and VSA (Viora Sales Agent).
- Based on the population and business significance of each country or city, a BDC or VSA code is assigned. In order to obtain a BDC or VSA code, a member must first achieve the One Star rank.
- Additionally, a non-refundable annual fee of \$500 is required for the BDC code, and \$200 for the VSA code. The validity of the code will be 365 days (one year) from the activation date.
- A BDC or VSA will receive commissions based on the number of members in their assigned area who activate their ID, purchase lottery tickets, or make investments. Each code will be assigned to only one individual.



## BDC Commission Structure:

**A BDC holder will receive four types of commissions:**

- a. \$100 annual referral commission for each VSA under a BDC when the VSA activates or renews their Code.
- b. 5.00% commission for each membership activation under a VSA using the BDC's code.
- c. 2.50% commission per lottery ticket purchased under a VSA using the BDC's code.
- d. 5.00% commission on all future product made by members under a VSA using the BDC's code.

## VSA Commission Structure:

**A VSA holder will receive three types of commissions:**

- a. \$1.00 commission per active membership in the VSA's area.
- b. 7.50% commission per lottery ticket purchased in the VSA's area.
- c. 10.00% commission on all future products made by members in the VSA's area.



# Viora Trade Development Lottery

Viora Trade Ltd. distributes 100% of its membership fees as commission to members and retains nothing for company development. To ensure future growth, we have introduced the Viora Trade Development Lottery, open to all active members. In each round, 10,000 lottery tickets will be available. Once all tickets are sold, the system will automatically conduct a draw, and winnings will be instantly credited to the winners' income wallets in USD equivalent.

**The lottery is structured in three phases:**

- Phase 1: \$2 per Lottery Ticket
- Phase 2: \$5 per Lottery Ticket
- Phase 3: \$10 per Lottery Ticket(Continuously)

**Revenue from each ticket is distributed as follows:**

- 20%: 7-Level Referral Commission
- 10%: Team Performance Royalty
- 10%: BDC & VSA Commission
- 55%: Prizes distributed among 10 winner levels
- 5%: Viora Trade Development Fund

This initiative ensures exciting earning opportunities for members while supporting the sustainable development of Viora Trade Ltd.



**Viora Trade LTD.**  
[www.vioratrade.com](http://www.vioratrade.com)

# Viora Trade Development Lottery

## 1st Step, Unit Price # \$02 & Quantity # 10000

Gift Level	Referral %	Gift Amount	Number of Gift	Total Amount
Level-01	7.00%	\$200	01	\$200
Level-02	5.00%	\$100	02	\$200
Level-03	3.00%	\$50	03	\$150
Level-04	2.00%	\$40	04	\$160
Level-05	1.00%	\$30	10	\$300
Level-06	1.00%	\$20	30	\$600
Level-07	1.00%	\$15	50	\$750
Level-08		\$10	100	\$1000
Level-09		\$05	300	\$1500
Level-10		\$03	2000	\$6000
Total	20.00%		2500	\$10860

## 2nd Step, Unit Price # \$05 & Quantity # 10000

Gift Level	Referral %	Gift Amount	Number of Gift	Total Amount
Level-01	7.00%	\$500	01	\$500
Level-02	5.00%	\$250	02	\$500
Level-03	3.00%	\$100	03	\$300
Level-04	2.00%	\$75	04	\$300
Level-05	1.00%	\$50	10	\$500
Level-06	1.00%	\$30	30	\$900
Level-07	1.00%	\$25	50	\$1250
Level-08		\$20	100	\$2000
Level-09		\$10	300	\$3000
Level-10		\$08	2000	\$16000
Total	20.00%		2500	\$26750



**Viora Trade LTD.**

[www.vioratrade.com](http://www.vioratrade.com)

### 3rd Step, Unit Price # \$10 & Quantity # 10000

Gift Level	Referral %	Gift Amount	Number of Gift	Total Amount
Level-01	7.00%	\$1000	01	\$1000
Level-02	5.00%	\$500	02	\$1000
Level-03	3.00%	\$400	03	\$1200
Level-04	2.00%	\$300	04	\$1200
Level-05	1.00%	\$200	10	\$2000
Level-06	1.00%	\$100	30	\$3000
Level-07	1.00%	\$50	50	\$2500
Level-08		\$30	100	\$3000
Level-09		\$20	300	\$6000
Level-10		\$15	2000	\$30000
Total	20.00%		2500	\$50900

### Seven types of income opportunities:

01. Coin Bonus of Free Registrations
02. Seven Level Referral Bonus for free Registration
03. Seven Level Referral Commission
04. Team Performance Royalty
05. Global Royalty
06. BDC & VSA Commission
07. Daily Coin Gift



## Withdraw System

The minimum withdrawal request amount is \$2 dollar. 5% withdrawal charge will be deducted based on the requested amount. Withdrawals must be requested only through Binance's BEP20 Network. Each withdrawal request will be approved within a maximum of 24 hours. To apply, go to My Account > Withdrawal Request and click the **Add New** button to access the withdrawal form. Enter your desired withdrawal amount, provide your Binance BEP20 Network wallet address, and submit the form. Enter your 4-digit secret PIN code and submit again. Once your request is submitted successfully, you will see a pending report. Wait for company approval. Once approved, your report will show "Approved", and the equivalent amount in dollars will be transferred to your Binance wallet.

### There are five things to do:

01. You must complete your registration.
02. You need to activate your membership.
03. Everyone close and familiar should become active members.
04. Must achieve the One Star designation.
05. You must have at least one VSA CODE.



**Viora Trade LTD.**  
[www.vioratrade.com](http://www.vioratrade.com)

# Thanks

The Viora Trade Ltd. authority expresses its gratitude  
to you for patiently reviewing the business plan.

Empowering the Future through Crowdsourcing and Blockchain Innovation with



**Viora Trade LTD.**  
[www.vioratrade.com](http://www.vioratrade.com)